Fourth Grade Exit Tickets
Cluster 3 – NC.4.NBT.4



NC DEPARTMENT OF PUBLIC INSTRUCTION	                                                                                        FOURTH GRADE	
Solve each problem below.
1.  826 + 514 =


2.  3,582 + 11,241


3.  674 – 243 =


4.  17,932 – 8,426 =


5.  On Monday night, 25,365 people attended the Panthers football game. On Thursday 53,271 people attended and on Sunday 21,203 went to the game. How many people attended the Panthers game that week?   



6.  On Friday, 39,582 strawberries were picked from the farm. On Saturday, 7,124 less strawberries were picked. How many strawberries were picked on Saturday? 


Solve each problem below.
1. 826 + 514 =


2. 3,582 + 11,241


3. 674 – 243 =


4. 17,932 – 8,426 =


5.  On Monday night, 25,365 people attended the Panthers football game. On Thursday 53,271 people attended and on Sunday 21,203 went to the game. How many people attended the Panthers game that week?   



6.  On Friday, 39,582 strawberries were picked from the farm. On Saturday, 7,124 less strawberries were picked. How many strawberries were picked on Saturday? 



[bookmark: _GoBack]Answer Key
1. 1,340  
2. 14,823
3. 431
4. 9,506
5. 99,839
6. 32,458

